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Last season two running backs on the Steelers football team rushed or a combined total of 1550 yards.
One rushed 4 times as many yards as the other. How many yards were rushed by each player?
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A particular Algebra text has a total which is broken into two parts. The second part
of the book has 64 more pages than the first part. How many pages are in each part of the book?
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On Monday Joe bought 10 cups of coffee and 5 doughnuts for his office at the cost of $16.50.
It turns out that the doughnuts were more popular than the coffee. On Tuesday he bought 5
cups of coffee and 10 doughnuts for a total of $14.25. How much was each cup of coffee?

L L od ‘QP ‘HL Cos—‘- ol o doavt.

(1 C . (N e U ('o-LCce

(0c+ 54 = IéSO) Pl
Sc + lOoll' H-lS

Q\Oc_ "’(00’ = 3300
- Sc + ]Daf < H)-S

(5. @A - 1875
1 &

« <

Coa cup d'C CO'CL‘CQ C°S+S ﬁllg




Word Problems.notebook February 25, 2020

A chemistry teacher needs to make 10 L of 42% sulphuric acid solution. The acid solutions available
are 30% sulphuric acid and 50% sulphuric acid, by volume. How many liters of each solution must be

mixed to make the 42% solution?
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The perimeter of a rectangular garden is 62 feet. The length is 1 foot more than twice the width.
Find the dimension of the garden.

e,‘l" rep. '!/Ll I
Lu f/ NP (a f:‘ﬂjﬂ

';lum-l—\ ,2w+£_: |
Qo+ 2L =627+ 2 s U= (D
2u30 <53
Al = Aw +‘ Z,_ 2?
202w S e ﬁ”:)’/“ 15 Akt and
{0; W “4— wdth 24 [0 Leot




Word Problems.notebook February 25, 2020

Mandy has $10,000 invested in two accounts. For the year she earned $535 more interest from her
7% Mutual Fund account than she did from her 4% CD. How much does she have in each account?
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